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pH (Bl F B KE)|—CC) 7.0(19) 7.1(20) (5.8~8.6)
FOE B B = mg/| 2 1K (60LLF)
C O D M n mg/| 4.0 35 (90LLF)
B o D mg/| 0.5 i 0.5k i (60LLF)
X B B K {&/cn 1 0 (3000LLF)
n~Axdy| 8o ol || meg 1R 1K BLLTF)
Y E (sEmmisE] me 1K3% 1K (30LLF)
Jxz/—ILEEAHAEE| mg 0.0055K ji 0.0055 ji% (BLLF)
R & & E mg/| 0.01ki& 0.01K % (BLLTF)
B o E A = mg/| 0.02 0.01Ki (2LLF)
BEREMEBEEFEE | n 0.06 0.05 (10LLF)
BEHBUETUOAVEEBBE]| my 0.007 0.005K jif (10LLF)
Y 0 L & F B mg/| 0.005 jif 0.005 jif (2LLF)
£ 2 % &8 8 E mg/| 3.2 29 (120LL°7F)
y A & & = mg/| 0.024 0.045 (16LAF)
B rE B £ B mg/| 36 5.2 —
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@ K i, mg/| 0.00053K ;i 0.0005K i 0.0005LLF
A K =T Y9 LA mg/| 0.00033 ji 0.0003K i 0.003LLF
Ein mg/| 0.005K jif 0.005K jif 0.01LLF
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A O Y4 B LA mg/| 0.02K ;i 0.02K i 005 TF
it % mg/| 0.005K jif 0.005K jif 0.01LLF
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FysBBOITFLY| my 0.0013R i 0.0013R i 0.01LLF
FrSHZOBRIFLY| mgy 0.00053K ;i 0.0005K i 001LLF
S 4o o0 A4 v | m 0.0023K i 0.0023K i 0.02LLF
THEECEN T I mg/| 0.00023K ;i 0.0002K i 0.002LLF
12-> 45004 > | m 0.00043k ji 0.0004 K i 0.004LLF
11->son0xTFL Y| my 0.01K:# 0.01K# 0.1LLF
12->400IXTFL | mg 0.0043K i 0.0043K i 0.04LLF
Y EEEEEPAETZ 0.00053k i 0.0005 % 1T
112-rYy 0BT 42> | mg 0.00063k ;i 0.0006K i 0.006LL T
13->sosono7aRy| mg 0.00023 jif 0.0002K ;i 0.002LLF
F 93 LA mg/| 0.00063k ;i 0.0006K i 0.006LL T
A mg/| 0.0003 3K ;i 0.0003K % 0.003LLF
F A R oA T | me 0.0023K i 0.0023K i 0.02LLF
Y mg/| 0.001 3K 0.001k# 0.01LLF
+ L ) mg/| 0.0023K i 0.0023K i 0.01LLF
14- C & F 4 ¥ | m 0.005K jif 0.005K jif 0.05LLF
/B Ao ITFL Y| n 0.00023k ji 0.00023K i 0.002LLF
HEEREERRUVEHEBREER] mg/ 2.6 2.6 —
FS5SHERUVEFDIEESY| me 0.43 0.25 —
SAO0FXRUVEDILEY| my 0.12 0.12 —




